**Course: Calculus and analytical geometry** Program: BS (SE, CS) **Instructor: Muhammad Abrar Khan Examination: Midterm Assignment Total Marks: 30** Date: Apr. 20, 2020

## Student name: MUHAMMAD SULEMAN AAMIR. **Student ID # 6891**

Note: Attempt all questions. Use examples and diagrams where necessary.

Q.1

- a) Differentiate  $\frac{2x^3 3x^2 + 5}{x^2 + 1}$  with respect to x. b) Differentiate  $\frac{(x^2 + 1)^2}{x^2 1}$  with respect to x.

Q.2

a) Find  $\frac{dy}{dx}$  if  $y = (1+2\sqrt{x})^3 \cdot x^{2/3}$  using chain rule. b) Find  $\frac{dy}{dx}$  if  $y = \sqrt{\frac{1-x}{1+x}}$  using chain rule.

## Q.3

- a) Find the Integration of  $\int \frac{1}{\sqrt{x^3}} dx$ .
- b) Find the Integration of  $\int \frac{1}{(6x+7)^6} dx$ .

GNO 1 Partia: -Differentiate 2x3-3x2+5 with respect to x. x+1  $= \frac{2\pi^{3} - 3\pi^{2} + 5}{\pi^{2} + 1}$ By Quotient Rule  $\frac{(x^{2}+1) d_{1} (2x^{3}-3x^{2}+5)-(2x^{3}-3x^{2}+5) d_{1} (x^{2}+1)}{dx}$   $\frac{d}{dx} = \frac{(x^{2}+1)^{2}}{(x^{2}+1)^{2}}$  $(x^{2}+1)(6x^{2}-6x)-(2x^{3}-3x^{2}+5)(2x)$ 2  $(x^2 + 1)^2$ 6x - 6x + 6x - 6x - 4x + 6x - 10x  $(x^2+1)^2$ 

$$\frac{2x^{4}-6x^{3}-16x}{(x^{2}+1)^{2}}$$
 Muj.



0 JNO1 Partibl Differentiate (x2+1) with respect to x. x2-1  $\frac{(\chi^2 + 1)}{\chi^2 - 1}$ By Quotient Rule.  $(x^{2}-1) \frac{d}{dx} (x^{2}+1)^{2} - (x^{2}+1) \frac{d}{dx} (x^{2}-1)^{2}$  $(x^{2}-1)^{2}$ d dx  $= (x^{2}-1)^{2} (x^{2}+1)(2x) - (x^{2}+1)^{2} (2x)$ (x2-1)2  $= (x^2 - i)(x^2 + i)(x - 2x(x^2 + i)^2)$  $(x^2 - 1)^2$ 



2  $\frac{4x^{5} - 4x - 2x^{5} - 2x - 4x^{3}}{(x^{2} - 1)^{2}}$  $\frac{2x^2 - 6x - 4x^3}{(x^2 - 1)^2}$  $\frac{2x^{5}-4x^{3}-6x}{(x^{2}-1)^{2}}$ Au. = 15





(4) QNO2 Part (a):-Find dy if y= (1+2NX)<sup>3</sup>. x<sup>3</sup> using chain rule. y= (1+21x)3. x3 By chain Rule => dy dy du dr dr dr dy = (1+2 (x) (x) )3 du dy = (1+2/2) 3 3/22  $dy = (x^{2} + 2x^{2} - x)^{3}$ dy= (x2+2x2(x)2)3



5) du = 2x+f2x21/2x+fx 4x) dy = 2x + 2x + 4x. x's du= 2x+x2+4x1+1/2 du = 2n+x3+43/2 du ey = 41%  $\frac{dy}{du} = \frac{d}{dv} u^{1\frac{9}{3}}$ dy = 10 7/3 du  $\frac{dy}{dx} = 10^{\frac{7}{3}} \cdot 2x + x^3 + 4^{\frac{3}{2}}$ 



6. Qa Part (b) Millerestiate Find dy if y= / 1-x using chain rule. y= 1-2 By Chain Rule. dy. dy. du dr. du dr. let du va 1-2 dr. 1+11 = (1+m)(-1) - (1-m)(1) $(1+x)^{2}$ 

![](_page_8_Picture_1.jpeg)

Ð J= LU y= 01/2 dy = d u's du du oly = du dy = 1 $dy = 2\pi U$ Putting Values  $\frac{dy}{dx} = \frac{1}{2\sqrt{0}} \cdot \frac{-2}{(1+x)^2}$ 

![](_page_9_Picture_1.jpeg)

dr Art.  $\frac{-1}{(1-\chi)^{1/2}(1+\chi)^{3/2}}$ 

![](_page_10_Picture_1.jpeg)

G QNO 3 Part (a):-Find the Integration of 1 dx =  $\int \overline{x^3} dx$  $z \int \frac{1}{\chi^{3/2}} dx$ ( 21 3/2 du  $= \int \frac{\pi^2}{4} + C$ 1

![](_page_11_Figure_1.jpeg)

Q3 Patta :-10 Imaginary parts 0.4 p lead ant 0.2 -0.2 - 0.4 -5 (~ from - 0.5 to 0.5) - 10 4 maginary Part 1 2 4 & Real 2 -2 -1 3 -3 -2 X from -3.6 to 3.6

![](_page_12_Picture_1.jpeg)

10 GANO 3 Part D. Find the integration of SIL du  $\int \frac{1}{(6x+7)} dx$ f (6x+7) dr 2 U = 6x + 7-Oly = 6 dr du = dn -b du

![](_page_13_Picture_1.jpeg)

a.  $\begin{array}{c} -6+1 \\ U \\ 6 \\ -6+1 \end{array}$  $\frac{1}{6} - \frac{5}{-5} + C$ - 1 U-5 + C --1. + C 3005 + C As. OR)  $= \frac{-1}{30(6n+7)} + C$ AJ

![](_page_14_Picture_1.jpeg)

![](_page_15_Figure_0.jpeg)